BRERMEFE LB ORERESXE (OORKR) B I TE=E

B 2

C S5l
1 IRADER
o H THEREEE) =
1 7 4 30,000
BNIEE - ASPEHIA 15,000{500 1 X 30%
T - L - 0% 0
AT ABIEAE (A7) 80,000
= DA TR &% 0
IAAF 126,000
2 ZHDER
 H THEE ) i =
Y R 5,600
i 85 1 2,500
AS it 5,000[5,000 1 X Z#EF 1%
T 7,000{7,000M X HEH1%
EQ 4 10,000{10,0004 X & 6f1 %
ot |FIVRISLA 2 20,000[F 7 ¥ EpRIE5000M 3R % Eep )& 15000
2 mfs e 12,300| % M E£AI82F X 1004, 4R % 51 3% #1682 X 50%
i 2600 2B EMER. 7 — AR BR. TAK
RO 85,000
g AR 10,000
il | B 30,000( 38 72 4% Bt
f
%
i
T
5 OE@ 40,000
ZgEEt (O+Q) 125,000

KIMAGFH=XHEFHE 2D KO IER L TS Z S0y,

KB ERIL (ST -2 - AGEIAL & DNGHO] 2L, /hEnho
BRAE P LIAARHEE LT TZE 0,



